XERH TR - R ARG R/INDE

BMmBa el iR

(B AJLIL.kg)

HAEBR |MB EEH FEke) |V L14GRE TR L137(MEH TR &5
H27.48 |{T&EIZAIZL|ERL 0.500 BEEd <56 BHEd <51 BEEY
H27.42 [LULM=1T =H 0.500 18.7 69.8 88.5
H27.4.16 [LL =1T R 0.500 11.8 56.2 68.0
H27.4.17 [LULM=1T F/NBREE  0.500 21.9 72.4 94.3
H27.4.23 [€AZEL =H 0.500 26.5 82.3 108.8
H27.4.24 [€AEWNT) |EH 0.485 14.7 61.8 76.5
H27.4.22 |f=ITD T bl 0.500 BHE9 <5.6 7.4 7.4
H27.4.27 |f=ITD T X4 0.500 ‘e <56 BHEd <51 BEEY
H27.4.24 |-+ DZ (B T) | Bk 0.500 BHEY <56 BHEY <51 BHEEY
H27.49 |fz6M%F |HH 0.500 10.6 65.7 76.3
H27.4.16 |f=5 D 3F 53 0.500 6.0 BHEY <54 6.0
H27.417 [f=6D3F HEF 0.416 105 314 41.9
H27.4.21 |I=-5D%F LHT 0.500 B9 <56 BHEY <51 BHEEY
H27.4.22 [:z6M3F  |FEETHE 0500 |BRHHET <56 BHE9 <51 REET
H27.4.28 |f=bMD 3 BE 0.407 BHEEY <67 14.4 14.4
H27.41 |IR R 0.514 58.3 246 304.3
H27.4.27 | 5& AR 0.500 B9 <56 BHEd <51 BEEY
H27.4.27 |5& T3 H 0.500 BRHEHET <56 B9 <51 v; Janhca
H27.4.28 | 5\& /MU 0.500 BHEEY <55 BHEY <51 BHEEY




